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1. 2χ2 – 3χ + 1 = 0 
 
 

 

2. -2χ2 + χ + 6 = 0 
 
 
 
 

3. 3χ2 – 2(χ-1) = 2χ+1 
 

 
 
 

4. 3χ2 – 6χ + 3 = 0 
 

 
 
 

5. 4χ2 – χ + 3 = 0 
 

 
 
 
 
 
 
 



 

 

 

1.  2χ2  – 3χ + 1 = 0  α=2  β=-3  γ=1 
 

ΛΥΣΗ 
Δ = β2- 4αγ = (-2)2 – 4∙2∙1 = 9-8 = 1 > 0  

Άρα, η εξίσωση έχει 2 λύσεις άνισες: 
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2.  -2χ2  + χ + 6 = 0 α=-2  β=1  γ=6 
 

ΛΥΣΗ 

Δ = β2- 4αγ = 12  – 4∙(-2)∙6 = 1+48 = 49 > 0 

Άρα, η εξίσωση έχει 2 λύσεις άνισες: 
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3.  3χ2  – 2(χ-1) = 2χ+1 
 

ΛΥΣΗ 

3χ2  – 2(χ-1) = 2χ+1 
 

3χ2-2χ+2-2χ-1 = 0 
 

3χ2-4χ+1=0  α=2 β=-4 γ=1  

Δ = β2- 4αγ = (-4)2-4∙3∙1=16-12 = 4 > 0 
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4. 3χ2  – 6χ + 3 = 0  α=3  β=-6  γ=3 
 

 
 
 
 
 

ΛΥΣΗ 
 
 

 Δ = β2- 4αγ = (-6)2-4∙3∙3 = 36-36 = 0 

Άρα, η εξίσωση έχει μία λύση διπλή: 
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5. 4χ2 – χ + 3 = 0  α=4  β=-1  γ=3 
 

 
 
 
 

ΛΥΣΗ 
 
 

Δ = β2- 4αγ = (-1)2  – 4∙4∙3 = 1-48 = -47 < 0 
 

Άρα, η εξίσωση είναι αδύνατη 


